[={id 2= = S¥| BEST1 [ BEST2 | BEST3 | WORST | 2Z(R) | FIE
1 (@)l 52 70 +211.8] 9 | +86.0 | +78.7 | +73.5 | A26.4| +319.0 | 2.06
2 |k=8 # +176.7| 8 | +115.7| 451.0 | +40.9 | A30.9| +180.7 |2.22
3 [MF B +159.8| 9 | +73.3 | 467.2 | +29.4 | A10.1| +181.3 |2.25
4 R |l 70 +159.3| 5 | +59.5 | +45.4 | +38.3 | +16.1 | +184.1 | 1.85
5 |[KE =3k +156.3| 8 | +80.6 | +65.3 | +42.6 | A32.2 | +232.9 |2.00
6 (AR HL +143.2| 8 | +98.8 | +69.5 | +27.8 | A52.9| +122.8 | 2.47
7 |88 EfE +142.7| 6 [ +106.5| 52.0 | +28.0 | A43.8| +119.3 |2.29
8 |ER&H EIFL +142.1) 7 | 479.7 | +54.8 | +29.4 | A21.8| +154.7 | 2.21
9 |BS —2 7O +135.9| 9 $96.4 | 457.1 | +36.9 | AB4.5| +478.9 |2.42
10 [Ov<h +134.9] 9 | +67.5 | +62.9 | +58.1 | A53.6 | +247.6 |2.22
11 (=2l 8% +133.4| 8 | +67.8 | +65.7 | +38.2 | A38.3| +147.6 | 2.16
12 %8 M¥ J0 +128.7) 7 | +71.5 | +39.7 | +34.7 | A17.2| +119.8 | 2.36
13 (2l M¥ 70 +122.8| 9 | +51.0 | +45.3 | +36.9 | A10.4| +192.3 | 2. 11
14 [KANTA +120.7| 8 | +72.4 | +48.6 | +46.3 | A46.6| +158.3 | 2.28
15 [JTB # +120.7] 9 | +62.9 | +55.2 | +36.0 | A33.4| +168.7 |2.19
16 (%P JOEBLE +118.3| 3 [ +125.7| +30.6 | A38.0 +118.3 [ 2.17
17 |&#: =0+ 70 +112.5| 8 [ +102.9| +35.5 | +19.4 | A45.3| +86.1 |2.34
18 (BB BEX +99.3| 9 | +51.9 | +39.6 | +39.0 | A31.2| +104.9 |2.44
19 /W& &3 +96.1| 6 | +71.7 | +54.7 | +29.9 | A60.2 | +80.7 |2.33
20 [fumifumi +94.3| 9 | +70.8 | +28.8 | +21.5 | A26.8 | +51.7 |2.47
21 [FoBvh +93.2| 5 | +45.2 | +33.6 | +25.9 | A11.5| +99.5 |2.00
22 |"H BX +92.8| 2 | +51.7 | +41.1 192.8 | 1.75
23 [LyR770- +89.9] 9 | +72.4 | +33.5 | +18.3 | A34.3| +86.8 |2.36
24 BB = +84.4] 9 | +55.8 | +43.7 | +41.2 | A56.3| +30.2 |2.33
25 [/ Kits 70 +83.1| 4 | +65.2 | +38.4 | A1.3 | A19.2| +83.1 |[2.31
26 [1B% F£ER 70 +78.4] 5 | +51.8 | +19.6 | +7.9 | A0.9 | +78.5 |2.35
27 My +77.6] 9 | +46.8 | +44.1 | +43.3 | A56.6| +23.9 |2.44
28 &M Bk 70 +745| 7 | +53.7 | +53.7 | +19.7 | A52.6 | A27.5 |2.61
29 5&H# 80 70 +68.6| 1 168. 6 +68.6 | 1.75
30 [EE T +65.6] 9 | +89.3 | +37.0 | +29.1 | A89.8| +66.7 |2.39
31 [&i2 Rsh +65.4] 8 $52.3 | +37.4 | +27.9 | AB2.2 | +48.1 |2.41
32 | k8B RKEA 7O +64.7] 8 | +43.0 | +37.6 | +33.2 | A49.1| +8.8 |2.53
33 |F= +59.6] 1 | +59.6 +59.6 | 1.75
KV SESTIw Y +55.2] 5 | +85.1 | +9.3 | A11.4 | A27.8| +30.9 |2.20
35 [#3AY #HEE +52.5] 3 $39.3 | +13.0 | +0.2 $52.5 |[2.25
36 |l & +50.8] 8 | +46.4 | +44.2 | +8.3 | A48.1| A16.9 |2.53
37 |l ER +48.5| 1 +48.5 +48.5 | 1.50
38 |B)Il 8= +47.8| 9 | +85.0 | +17.2 | +9.6 | AB4 0| AT1.3 |2.56
39 [(HhO&k +47.5| 6 | +71.1 | +44.7 | A22.9 | A45.4| A15.8 |2.63
40 |BF ®E +47.5| 8 +45.8 | +37.5 | A0.2 | A35.6| A19.0 |2.50




[[=Hivi Al =H) Z¥4 | BEST1 | BEST2 | BEST3 | WORST | &Z(R) | FEIE
41 [MBP ZFXK +47.0] 3 | +57.9 | A3.5 | AT.4 +47.0 |2.33
42 & EZ] +46.0] 9 | +52.2 | +50.0 | +27.9 | A84.1| A60.0 |2.61
43 |KOTO +43.5| 9 | +48.7 | +39.9 | +10.4 | A55.5| A21.1 |2.50
44 {6 BB O +41.3] 1 +41.3 +41.3 | 2.00
45 |BF BFE +39.8] 1 | +39.8 $39.8 | 2.00
46 |BREB WHE +36.5] 2 | +39.9 | A3.4 $36.5 | 2.25
47 |58 B 70O +36.1] 1 | +36.1 $36.1 | 2.00
48 |8 —= +35.5] 1 | +35.5 +35.5 | 1.75
49 |8 =B +35.0] 9 $55.6 | +15.2 | +0.1 | A35.9| A30.1 |2.50
50 vt B +34.9] 9 | +30.8 | +30.2 | +19.6 | A45.7 | AB55.6 |2.56
51 |BS f@—88 7O +29.9] 1 +29.9 $29.9 | 1.75
52 | kB Z& 70 +28.8] 6 | +47.0 | +8.8 | +0.4 | A27.4| +5.6 |2.46
53 |#Bdh & 70 +21.8| 3 | +16.4 | +9.8 | A4.4 $21.8 |2.25
54 |BRIR BEsh 7O +19.4] 1 | +19.4 $19.4 | 2.50
55 |JIIAY fB— +18.2] 1 | +18.2 $18.2 |2.25
56 ({88 AT +18.0] 3 | +17.9 | +1.9 | A1.8 $18.0 | 2.42
57 |8 HI&E +14.4] 8 | +20.8 | +20.5 | +11.4 | A38.3| A43.8 |2.66
58 |BR X 7O +14.3] 1 | +14.3 +14.3 | 2.00
59 |&E = +12.7] 7 | +39.0 | +35.3 | +14.1 | AT5.7| AT78.9 |2.50
60 [T FH +11.9] 1 | +11.9 $11.9 | 2.50
61 |Z&R & 70O +10.2| 4 | +50.8 | +49.4 | A38.6 | A51.4| +10.2 |2.56
62 [HIRO%E O +9.3| 1 19.3 $9.3 | 2.25
63 K == +7.9| 1 7.9 $7.9 | 2.75
64 |EFUE 16RE +7.2] 1 7.2 $7.2 [ 2.25
65 |[NE & +5.6] 1 15.6 5.6 | 2.00
66 |FBE #3 JO +2.1] 1 +2.1 $2.1 12.50
67 [RYOLLE +1.0] 4 | +30.4 | +3.9 | A3.5 | A29.8| +1.0 |[2.44
68 [RIF &% O +1.0] 1 $1.0 +1.0 | 2.50
69 [18% I 7O AO.1| 1 | AO.1 AO0. 1 |2.25
70 [BE N3 70 AO.3| 3 | +44.6 | +4.1 | A49.0 A0.3 [2.58
71 |REIF BB A4T7| 1 | A4T A4 7T |2.50
72 |BpEN A48| 9 | +38.2 | +13.9 | +5.9 | A62.8| A90.3 |2.67
73 |NEE H2 A49| 3 +7.5 | A2.1 | A10.3 A4 9 |2.42
74 |3 BK A6.1| 6 | +22.2 | +13.3 | +11.5 | A53. 1| A57.9 [2.58
5 |RR <3H AG.4| 3 | +25.4 | A13.6 | A18.2 A6.4 |2.50
76 (POEE BEZST A7.0] 1 | AT.0 AT.0 [2.25
7|8 HE5 A88| 9 | +16.2 | +15.3 | +3.8 | A44.1| A156.7 | 2.81
78 | #i2 J0 A11.4] 7 | +25.4 | AO0.6 | A3.8 | A32.4| A62.2 |2.64
79 |X%H RS A11.4] 1 | A1 4 All.4 [2.25
80 [/\& AEs A120| 4 | +33.5 | +10.0 | A1.4 | A54. 1| A12.0 |2.44




[[=Hivi Al =H) Z¥4 | BEST1 | BEST2 | BEST3 | WORST | &Z(R) | FEIE
81 |F& Ak 7O A12.9| 9 | +34.3 | +21.9 | +6.0 | AT5.1| A152.8 | 2.81
82 |B1@ i\ 70O A13.6| 2 | +46.5 | ABO. 1 A13.6 [2.63
83 |#5A & A13.8] 9 | +43.0 | 47.3 | A11.8 | A52.3| A121.1]2.53
84 WA & A158| 1 | A15.8 A15.8 [2.75
85 |{PEE % 70O A16.3| 2 | A2.5 | A13.8 A16.3 [2.75
86 BB & 7O A16.5| 1 | AT16.5 A16.5 [2.75
87 |&@K R 70O A20.9| 1 | A20.9 A20.9 |2.75
88 [nRZ A21.2| 1 | A21.2 A21.2 [2.75
89 |=48 K& JO A21.4] 1 | A21.4 A21.4 |2.75
90 |EEEE B A235| 5 | +29.4 | +10.3 | A17.2 | A46.0| A48.6 [2.55
91 |RIL B A25.6| 9 | +44.9 | +20.3 | +10.8 |A101.6| AB9.7 [2.58
92 |&) IRE A258| 2 | +19.4 | A45.2 A25.8 [2.75
93 |EE BVE 7O A26.1| 7 $6.8 | +6.7 | +5.7 | A45.3 | A104.2 |2.54
9 |BB = A27.1] 1 | A27.1 A27.1 |3.25
95 |{$EB 20 70O A272| 1 | A271.2 A27.2 [3.00
96 |FRIR *hEh A28.3| 2 +17.8 | A46. 1 A28.3 |2.63
97 |'EB L& A29.4] 1 | A29.4 A29.4 |3.00
98 [#3 K KT 70O A295| 1 | A29.5 A29.5 [2.75
9 |EZDEN A29.7| 7 | 423.9 | +4.5 | +0.3 | A58.4| A55.2 |2.61
100 |&£42 & 70O A29.9] 5 | +94.6 | A1.8 | A30.2 | A92.5| A61.8 |2.95
101 B MF 70 A30.8| 2 | A11.7T| A19.1 A30.8 |2.63
102 |&%F KK A31.2| 4 | +37.5 | 45.6 | A32.7| A41.6| A31.2 [2.63
103 |BIF &% A31.4] 2 | A6.8 | A24.6 A31.4 |2.63
104 |F/\ A31.5| 1 | A31.5 A31.5 |2.50
105 |#k 36 A31.9| 9 | +54.4 | 48.7 | A12.5| A82.5| A215.5 [ 2.83
106 |LL)I| ¥& A322| 1 | A32.2 A32.2 [3.00
107 |[—F EF A34.7| 1 | A34.T A34.7 |3.00
108 [EhBzY— A35.4] 1 | A35. 4 A35.4 |2.50
109 @& Bk A37.7| 4 $30.1 | +16.1 | A36.2 | A47.7| A37.7 |2.50
110 |1 &A A405] 9 | +29.0 | +13.3 | AT.7 | A81.1| A168.3|2.83
11 |9%F B A42.0| 5 | +46.9 | +18.5 | A26.4 | A81.0| AT78.6 [2.65
112 |\@B 0 70 A42.7| 1 | A42.7 A42.7 |3.00
13 |fIZ02 MK 70 A429]| 1 | A42.9 A42.9 [3.00
114 |28)I| B=F A452| 1 | A45.2 A45.2 [3.25
115 [BR X5 A545| 1 | A54.5 A54.5 |3.00
116 |78 B& A54.7| 4 | +22.6 | AO0.7 | A27.1| A49.5| A54.7 |2.63
17 |78 K= A55.1| 1 | A55.1 A55.1 [3.50
118 |0z 2 A555| 8 | +30.7 | +4.6 | A14.9| AT5.9| A282.5 [3.03
119 | X 70O A56.6| 4 $40.3 | 422.8 | A43.9 | AT5.8 | AB6.6 |2.56
120 (/A HE A57.1] 1 | A5T.1 A57.1 [3.00
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